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STG- 1 =98t | 13 6 6 47 | m? 9,677 11,022 3512 24211 2.24
STG- 2 R E 6 6 47 | m? 10,668 19,514 5.837] 36,019 2.24
STG=3 | i nme “e< [T36 24 6 14 | m? 11,957 24179 7,165 43,301 2.82
STG- 4 —== 42 30 10 m 3,932 18,339 5212| 27,483 0.85
STG- 5 sHch [ 66 54 10 m 5,026 21,350 6,060] 32,436 1.41
STG- 6 108 | 100 | 10 m 6,988 22,564 6,483 36,035 2.44
STG- 7 ETEIEE 6 6 47 | m 18,077 11,624 4,089] 33,790 2.24
STG- 8 R RE 6 6 47 | m? 18,722 17,107 5,606] 41,435 2.24
STG-9 | oo |~ | 36 | 24 6 [ 114 [ m? 21,090] 24,406 7,698 53,194 282
STG-10 | = 42 30 6 m 4,931 21,768 6,178| 32,877 0.51
STG-11 sHC | 66 54 10 m 7,251 25,398 7,260/ 39,909 0.85
STG-12 108 | 100 6 m 10,628 28,897 8,409 47,934 1.47
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M 1ex EETeTS 9 X 4 X 51 m 4,999 3,126 2,455 15,580 1.41
A 2% % urar 9 X 4 X 51 m 5,884 15,583 4,535 26,002 1.41
M32 | (e e 30 X 5 X 120 | m 7,230 18,427 5,375 31,032 2.35
e == g 36 X 10 m 2,500 12,690 3,573 18,763 0.85
A 55% ;j; 60 X 10 m 3,302 13,957 3,965 21,224 141
A 65 (5X2100) 108 % 10 m 1997 16.908 4842 26,747| 254
M 72 Zotst 9 X 4 x 51 m 9,411 11,266 3,532 24,209 1.41
A 8% EETET 9 X 4 x 51 m 10,165 17,614 5,301 33,080 1.41
HM9s® | 2320 | o4 36 X 5 m 3,194 15,583 4,400 23,177 0.42
M10% & [E'Dxrl?)n 60 X 5 m 4,335 17,614 5,009 26,958 0.71
M5 % A 108 % 5 m 6,500 20,318 5,843 32,661 1.27
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M1 % oprmeE 150 X 150 X 9 | m 8,572 11,013 3,314 22,899 1.90
M5 % EERS 150 X 150 X 9 | m 12,879 16,330 4,907 34,116 1.90
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M5 E oprZE 200 X 5 m 8,197 6,716 2,242 17,155 2.35
M2% % 23| 200 X 5 m 11,598 13,442 4,254 29,294 2.35
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HM15% oprmeE 400 x 180 % 13 | m 4,443 4,623 909 9,975 4.90
M5 % ZagE 400 X 180 X 13 | m 6,731 9,250 1,712 17,693 4.90
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